
vege <= 0.5
entropy = 3.263
samples = 180

value = [19, 19, 27, 25, 14, 23, 12, 14, 15, 12]
class = hot_dog

cash <= 0.5
entropy = 2.997
samples = 135

value = [18, 19, 27, 25, 5, 13, 12, 1, 3, 12]
class = hot_dog

True
age <= 0.5

entropy = 2.095
samples = 45

value = [1, 0, 0, 0, 9, 10, 0, 13, 12, 0]
class = waffles

False

age <= 0.5
entropy = 2.689
samples = 91

value = [16, 18, 27, 15, 3, 3, 4, 1, 2, 2]
class = hot_dog

age <= 0.5
entropy = 2.558
samples = 44

value = [2, 1, 0, 10, 2, 10, 8, 0, 1, 10]
class = hamburger

time <= 0.5
entropy = 2.564
samples = 83

value = [15, 18, 24, 15, 2, 2, 4, 0, 1, 2]
class = hot_dog

outfit <= 0.5
entropy = 2.406

samples = 8
value = [1, 0, 3, 0, 1, 1, 0, 1, 1, 0]

class = hot_dog

gender <= 0.5
entropy = 2.339
samples = 46

value = [12, 9, 14, 7, 1, 0, 2, 0, 0, 1]
class = hot_dog

outfit <= 0.5
entropy = 2.655
samples = 37

value = [3, 9, 10, 8, 1, 2, 2, 0, 1, 1]
class = hot_dog

outfit <= 0.5
entropy = 2.333
samples = 24

value = [7, 4, 7, 3, 1, 0, 2, 0, 0, 0]
class = club_sandwich

outfit <= 0.5
entropy = 2.147
samples = 22

value = [5, 5, 7, 4, 0, 0, 0, 0, 0, 1]
class = hot_dog

entropy = 2.36
samples = 19

value = [6, 3, 5, 2, 1, 0, 2, 0, 0, 0]
class = club_sandwich

entropy = 1.922
samples = 5

value = [1, 1, 2, 1, 0, 0, 0, 0, 0, 0]
class = hot_dog

entropy = 2.155
samples = 18

value = [4, 4, 6, 3, 0, 0, 0, 0, 0, 1]
class = hot_dog

entropy = 2.0
samples = 4

value = [1, 1, 1, 1, 0, 0, 0, 0, 0, 0]
class = club_sandwich

gender <= 0.5
entropy = 2.94
samples = 17

value = [1, 4, 3, 3, 1, 2, 1, 0, 1, 1]
class = steak

gender <= 0.5
entropy = 2.078
samples = 20

value = [2, 5, 7, 5, 0, 0, 1, 0, 0, 0]
class = hot_dog

entropy = 2.503
samples = 9

value = [1, 2, 2, 2, 1, 1, 0, 0, 0, 0]
class = steak

entropy = 2.75
samples = 8

value = [0, 2, 1, 1, 0, 1, 1, 0, 1, 1]
class = steak

entropy = 2.171
samples = 10

value = [1, 3, 3, 2, 0, 0, 1, 0, 0, 0]
class = steak

entropy = 1.846
samples = 10

value = [1, 2, 4, 3, 0, 0, 0, 0, 0, 0]
class = hot_dog

time <= 0.5
entropy = 2.0
samples = 4

value = [1, 0, 0, 0, 1, 1, 0, 1, 0, 0]
class = club_sandwich

gender <= 0.5
entropy = 0.811

samples = 4
value = [0, 0, 3, 0, 0, 0, 0, 0, 1, 0]

class = hot_dog

gender <= 0.5
entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 1, 0, 0, 1, 0, 0]
class = apple_pie

gender <= 0.5
entropy = 1.0
samples = 2

value = [1, 0, 0, 0, 0, 1, 0, 0, 0, 0]
class = club_sandwich

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 1, 0, 0]
class = waffles

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 1, 0, 0, 0, 0, 0]
class = apple_pie

entropy = 0.0
samples = 1

value = [1, 0, 0, 0, 0, 0, 0, 0, 0, 0]
class = club_sandwich

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 1, 0, 0, 0, 0]
class = ice_cream

time <= 0.5
entropy = 1.0
samples = 2

value = [0, 0, 1, 0, 0, 0, 0, 0, 1, 0]
class = hot_dog

entropy = 0.0
samples = 2

value = [0, 0, 2, 0, 0, 0, 0, 0, 0, 0]
class = hot_dog

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 1, 0]
class = greek_salad

entropy = 0.0
samples = 1

value = [0, 0, 1, 0, 0, 0, 0, 0, 0, 0]
class = hot_dog

time <= 0.5
entropy = 2.363
samples = 36

value = [1, 1, 0, 10, 0, 7, 7, 0, 1, 9]
class = hamburger

time <= 0.5
entropy = 2.156

samples = 8
value = [1, 0, 0, 0, 2, 3, 1, 0, 0, 1]

class = ice_cream

gender <= 0.5
entropy = 1.299

samples = 8
value = [0, 0, 0, 5, 0, 1, 2, 0, 0, 0]

class = hamburger

gender <= 0.5
entropy = 2.405
samples = 28

value = [1, 1, 0, 5, 0, 6, 5, 0, 1, 9]
class = lasagna

entropy = 0.0
samples = 3

value = [0, 0, 0, 3, 0, 0, 0, 0, 0, 0]
class = hamburger

entropy = 1.522
samples = 5

value = [0, 0, 0, 2, 0, 1, 2, 0, 0, 0]
class = hamburger

entropy = 2.603
samples = 13

value = [1, 1, 0, 1, 0, 3, 3, 0, 1, 3]
class = ice_cream

entropy = 1.889
samples = 15

value = [0, 0, 0, 4, 0, 3, 2, 0, 0, 6]
class = lasagna

outfit <= 0.5
entropy = 1.5
samples = 4

value = [0, 0, 0, 0, 0, 2, 1, 0, 0, 1]
class = ice_cream

gender <= 0.5
entropy = 1.5
samples = 4

value = [1, 0, 0, 0, 2, 1, 0, 0, 0, 0]
class = apple_pie

gender <= 0.5
entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 1]
class = pizza

entropy = 0.0
samples = 2

value = [0, 0, 0, 0, 0, 2, 0, 0, 0, 0]
class = ice_cream

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0]
class = pizza

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 1]
class = lasagna

entropy = 1.0
samples = 2

value = [1, 0, 0, 0, 1, 0, 0, 0, 0, 0]
class = club_sandwich

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 1, 1, 0, 0, 0, 0]
class = apple_pie

gender <= 0.5
entropy = 2.076
samples = 42

value = [1, 0, 0, 0, 7, 9, 0, 13, 12, 0]
class = waffles

cash <= 0.5
entropy = 0.918

samples = 3
value = [0, 0, 0, 0, 2, 1, 0, 0, 0, 0]

class = apple_pie

time <= 0.5
entropy = 2.084
samples = 22

value = [1, 0, 0, 0, 3, 4, 0, 6, 8, 0]
class = greek_salad

outfit <= 0.5
entropy = 1.959
samples = 20

value = [0, 0, 0, 0, 4, 5, 0, 7, 4, 0]
class = waffles

cash <= 0.5
entropy = 2.078
samples = 18

value = [1, 0, 0, 0, 2, 4, 0, 4, 7, 0]
class = greek_salad

entropy = 1.5
samples = 4

value = [0, 0, 0, 0, 1, 0, 0, 2, 1, 0]
class = waffles

outfit <= 0.5
entropy = 1.834
samples = 13

value = [0, 0, 0, 0, 2, 2, 0, 3, 6, 0]
class = greek_salad

entropy = 1.922
samples = 5

value = [1, 0, 0, 0, 0, 2, 0, 1, 1, 0]
class = ice_cream

entropy = 1.75
samples = 8

value = [0, 0, 0, 0, 1, 2, 0, 1, 4, 0]
class = greek_salad

entropy = 1.522
samples = 5

value = [0, 0, 0, 0, 1, 0, 0, 2, 2, 0]
class = waffles

cash <= 0.5
entropy = 1.954
samples = 17

value = [0, 0, 0, 0, 3, 4, 0, 6, 4, 0]
class = waffles

entropy = 1.585
samples = 3

value = [0, 0, 0, 0, 1, 1, 0, 1, 0, 0]
class = apple_pie

entropy = 1.906
samples = 8

value = [0, 0, 0, 0, 1, 2, 0, 3, 2, 0]
class = waffles

time <= 0.5
entropy = 1.975

samples = 9
value = [0, 0, 0, 0, 2, 2, 0, 3, 2, 0]

class = waffles

entropy = 2.0
samples = 4

value = [0, 0, 0, 0, 1, 1, 0, 1, 1, 0]
class = apple_pie

entropy = 1.922
samples = 5

value = [0, 0, 0, 0, 1, 1, 0, 2, 1, 0]
class = waffles

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 1, 0, 0, 0, 0]
class = ice_cream

entropy = 0.0
samples = 2

value = [0, 0, 0, 0, 2, 0, 0, 0, 0, 0]
class = apple_pie


